
Een vergelijking is een weegschaal 
met aan beide kanten getallen
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       3 x 3      3 x 1                                                  3 x 1
    4   0   3       -2             4.-2  +  0.2  +  3.4              4
    1  -1   7        2       =    1.-2  + -1.2  +  7.4     =     24
   -3   3   2        4            -3.-2  +  3.2  +  2.4            20



       3 x 3      3 x 1                                                  3 x 1
    4   0   3       -2             4.-2  +  0.2  +  3.4              4
    1  -1   7        2       =    1.-2  + -1.2  +  7.4     =     24
   -3   3   2        4            -3.-2  +  3.2  +  2.4            20

      3 x 3             3 x 3                    3 x 3
   4    0   3       -2    3    1             4     12   25
   1  -1   7         2   -3   -5     =    24       6   55 
  -3   3   2         4    0    7            20   -18    -4



       3 x 3      3 x 1                                                  3 x 1
    4   0   3       -2             4.-2  +  0.2  +  3.4              4
    1  -1   7        2       =    1.-2  + -1.2  +  7.4     =     24
   -3   3   2        4            -3.-2  +  3.2  +  2.4            20

      3 x 3             3 x 3                    3 x 3
   4    0   3       -2    3    1             4     12   25
   1  -1   7         2   -3   -5     =    24       6   55 
  -3   3   2         4    0    7            20   -18    -4

    1 x 3             3 x 3               1 x 3
                    -2   3    1
 1  -1  7        2  -3   -5     =    24   6   55 
                     4   0    7



       3 x 3      3 x 1                                                  3 x 1
    4   0   3       -2             4.-2  +  0.2  +  3.4              4
    1  -1   7        2       =    1.-2  + -1.2  +  7.4     =     24
   -3   3   2        4            -3.-2  +  3.2  +  2.4            20

      3 x 3             3 x 3                    3 x 3
   4    0   3       -2    3    1             4     12   25
   1  -1   7         2   -3   -5     =    24       6   55 
  -3   3   2         4    0    7            20   -18    -4

    1 x 3             3 x 3               1 x 3
                    -2   3    1
 1  -1  7        2  -3   -5     =    24   6   55 
                     4   0    7

∃(M 1 ,M 2):
M 1M 2≠M2M1



                      y =   x - 2
                      y =  -2x + 1



                      y =   x - 2
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         2x  +  y   = 1

 -1      1        x          1      0      -2
  2      1        y          0      1        1=



                      y =   x - 2
                      y =  -2x + 1

          -x  +  y   = -2
         2x  +  y   = 1

 -1x  +  1y       =     1 . -2   +   0 . 1
  2x  +  1y       =     0 . -2   +   1 . 1

 -1      1        x          1      0      -2
  2      1        y          0      1        1

 -1      1           1       0
  2      1           0       1
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         2x  +  y   = 1
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  1x  + -1y       =    -1 . -2   +   0 . 1
  2x  +  1y       =      0 . -2   +  1 . 1
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   1x  + -1y      =    -1 . -2   +  0 . 1
   0x  +  3y      =      2 . -2   +  1 . 1

   1x  + -1y      =    -1 . -2   +   0  . 1
   0x  +  1y      =   2/3 . -2  + 1/3 . 1

x -1

x -2
+

x 1/3

+

 -1      1        x          1      0      -2
  2      1        y          0      1        1

 -1      1           1       0
  2      1           0       1

  1     -1           -1      0
  2      1            0      1

  1     -1          -1      0
  0      3            2      1

  1     -1          -1      0
  0      1          2/3  1/3

=



                      y =   x - 2
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          -x  +  y   = -2
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 -1x  +  1y       =     1 . -2   +   0 . 1
  2x  +  1y       =     0 . -2   +   1 . 1

  1x  + -1y       =    -1 . -2   +   0 . 1
  2x  +  1y       =      0 . -2   +  1 . 1

   1x  + -1y      =    -1 . -2   +  0 . 1
   0x  +  3y      =      2 . -2   +  1 . 1

   1x  + -1y      =    -1 . -2   +   0  . 1
   0x  +  1y      =   2/3 . -2  + 1/3 . 1

   1x  +  0y      =  -1/3 . -2  + 1/3 . 1 
   0x  +  1y      =   2/3 . -2  + 1/3 . 1

x -1

x -2
+

x 1/3
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   1x  + -1y      =    -1 . -2   +  0 . 1
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